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The figures below show three samples (sample
A, sample B and sample C) of gas in three

identical closed bottles.
Each gas particle is represented by one colored
ball in the bottles.
After comparing the kinetic energy of the
particles in the three samples, choose the sample

that has the highest temperature.

1 a8 J) sl

o zdgain | Zdgad) Jladl oo zdlad a3 oLsT Bygaall yelas
J el @5 adg dilieg dislaie colomlo) DB S (z zd9ai9

il o)l 0da sl By & ghe 5,8 dlawl s (B s

Al @ Zilaadl (3 Colasunl) A8 ]l dBlal dijlie e

AV Byl Aoy (53 3 g0l

Sample A:

Jpisal

Number of gas particles: 6

Average particle speed: 1800 m/s
1800 ms haralide oo lo. da

Sample B:

St g

Number of gas particles: 6
6 lall Chapin 2

Average particle speed: 2000 m/s
2000 m's :\:‘ﬁ-ljﬂﬂn TR S

Sample C:
= E'g E-

Number of gas particles: 6
6: e Clase s

Average particle speed: 1400 m's
1400 m's Shaval de o las G

Sample A Tz3ges

Sample B © z3ga

Sample C  z zigad

Sample A, sample B and sample C have the same temperature
Y Z3La) § Lgludie Byl ©las O
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Aisha was preparing two cupcakes with the same
mass and volume in the same oven. In order to
determine the specific heat of the cupcakes, Aisha
measured the temperature of each one at four
different times. The graph below shows the changes
in temperature with time.

ks Opall (3 paezelly ALSU udl (ipkd dadle o as
Bl > ok A5 Conls gl Byl kot ol
Adll 06T Gl qua! oya Aakises Bl gl (8 Sakad S

Bl jaye & Byl ol dmys l__?,

S

=y
Ln

Temperature (2C)
B
[}

S

2 4 o 8 10

Time (minutes)

====Cupcake A ====Cupcake B

According to the graph, which cupcake shows the
highest specific heat?

50
3\ 45
1 4
a
g 35

30

2 4 6 2 10
(i) v

s | 5l e 1 6l

dus gl Byl Lo rinladl! e BT ¢3! ) J) Tobizad

¢ ST

Both cupcakes have the same specific heat
() il § sl o o () ot § gl i )

We cannot know from the graph
! a0 By 018y Y




3 A8 Jsad
The figure below shows two identical closed \igusus a5 285 cuiliag cpilane cpeleg obal §yguall yelas
casseroles were heated to different temperatures. @5 agis Bylyad) Houae Bl das ddlise Bl wilams I

After turning off the heat source, the pair of ¢ .. dsylyzd)l @3l JWEsL 5 Ayl sl o)l g

casseroles are placed so that they touch allowing .5, 3 ) S8 % e hock s :
- D8 das sle Bylyo damyy uld oLl 9J9_,,aj'|
the transfer of thermal energy between them. 5 S8 " -

Then, the temperature of each casserole is
measured after 3 minutes.

r Casserole 2
152°C

Casserole 1 '
129°C

Which of the following options shows the possible g ) - ] -
pair of temperatures attained during the process of “ gl el Yl il gl dlall b g )

thermal energy transfer? Cauylyodt ddlall JUad! ddas M Lede Liasd
Casserole 1 fCasseroIe 2

\“}29°C

J

129°C

&

— —

Casserole 1| 7 Casserole 2
o o

~ ,152 %C &152 Cﬂ/

casserole 1| casserole 2
\ 135°C 146°C _
— N

W 258 f 1eeg

\ (_159°C

_—/

Casserole 1| fCasseroIe 2

(122°C_J, 159°C

g 122

—

e

——
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The picture below shows the three main processes  dadye)l (3523 1) & dwnd )l 3 kall 0Ll Byguall jglas
(1,2 and 3) involved in transferring thermal energy 3k sanl! (adia) &)l yed! dBla)l Jlasl
(The pot handle is metallic).

Aacall @ylal) daslial! slawd! jglas AL wlilad) e &
Which of the following options shows the right 95ysall 3
names of the processes represented in the picture?

E- ° 1: Conduction - 2: Convection - 3: Radiation a3 Jeall 12 Juagl 1

1: Convection - 2: Radiation - 3: Conduction

1: Radiation - 2: Conduction - 3: Convection

1: Conduction - 2: Radiation - 3: Convection Jaall 13 gLyl 2 Juagll i

5 ad Jl sl

A nitrogen molecule (N2) has one triple covalent  ; _, 9 A5 dnadluad dlasly (N3) cpma et 555 (3 dmgs
bond. How many electrons do the nitrogen atoms c. :-I d Laa "-:I L 'I— s
share? L oarmg Al Db Lged Shlas a)l wlig ASIY) sae o8

,.__---1
o=
Q




Which of the following statements is true about

the below atom model?

oLl () z3ga! o guase zuowo AW Wil e

his element is beryllium, and it has 8 valence electrons
35 wlig AUl 8 g cpanll o saialllia

This element is beryllium, and it has 4 valence electrons
5985 g A 4 g cpaibiall 52 satallia

This element is beryllium, and it has 2 valence electrons
5885 39 480] dlg cpaboall 5B patalllin

This element is beryllium, and it has 3 valence electrons
BB g 81 3 g cpgulipll g yaialllin
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Choose the right sentence that describes the energy o (3 ABlall J3a0 el &l el Blall s
transformation of a combustion engine. -BlAYI
T s
| |-a
E These engines transform the chemical energy from fuel to thermal energy then to mechanical energy E
o S5 Bl & Ay Bl ] 353501 5o Al 2B iSyomall 01 J3ous
L) ]
) 1
) 1

hese engines transform the chemical energy from fuel to mechanical energy then to thermal energy

gty B3 &5 ASKn Bl ) 35351 ra dileasSt AUl iyomal 5 J3ond

hese engines transform the mechanical energy from fuel to thermal energy then to chemical energy

AdluasS B> & Ayl Bl J) 35830 50 ASKuall A3l Simall 018 S35

These engines transform the thermal energy from fuel to chemical energy then to mechanical energy

LS A3l 43 AuilussS dBls ) 258 5)1 (e dplyzedt ABlall sl 0 3o

8 Al J) gl

What type of bonding does a material most likely N e 315 Bl LiSiliag el il Jl £ Lo
have if it has a high melting point, does not Dlgil da2 coB B8 ¢ bl g8

{-' = ! 5 i3 I3 dm a5
dissolve in water and has a shiny surface? &Y ks Lglg slall (3 29 5 Vg cdailye

Ionic bonding
45991 Al

ovalent bonding
danludl Al

Polar bonding

i i
! Metallic bonding !
| @ 318 e i
[l 1




The diagram below represents a molecule of ) L) 553 ol Sl auoyd! yedas
hydrogen chloride.

What type of chemical bond holds the atoms in Czdgad 1 3 Lo whdl lays &) AsluaSIl dlayl )l £95 Lo
this model together?

Covalent in which electrons are gained or lost




10 a8 J) sl

The diagrams below show the atoms of magnesium

(Mg) and chlorine (Cl). (C1) )s8Jls (Mg) pgemamsidiall 353 0Ll Glad! ol plins
Mg: :Cl:

Which of the following chemical formulas is the
correct ionic compound formed by Mg and C1?

peoml) 3591 Syl 38 21 Al ol o0 6
§Cls Mg e 03%all

e e B B e




11 68, Jlsasl

Classify the reaction shown below: 0Ll ed! JlasSdl Jelad! £oi Lo

CaCO; - Ca0 + CO»

Single replacement  Gal>l Jlaiul

‘Decomposition <8

o g

12 a8 J) sl

What term is given to a reaction where heat energy ddlall Jas Cuo Jeladdl e 3la gl zllamall Lo
is transferring to the surroundings? Cdlaoall @lobad! J) dyylye!

Endothermic &l jols

o
:
(]
1
3
&
E

Decomposition <&z
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If an object has higher number of electrons than protons 8T @b ASJl sde dmbaw e Sgizo o guusr 0813
on its surface, what type of charge does it have? Cdinmd £oi Lad cligig Wl aae (e

A positive charge du-ge dised

A neutral charge aslaie dioci

| 1
i 1
: (v] A negative charge dJlu disi :
i 1
i 1

Insufficient information to determine the type of charge

Lo bl g3 dudoa] A3 48 ilaghasl!

14 o8 J) sl

Which of the following is a balanced chemical 139 ) g0l dlalasd! ool ddlaSdl calolaall o Asl
equation?

27Zn +HCl > ZnClL + Hy

(/) Zn+ 2HCl = ZnCh + Hy

2Zn + 4HCl =2 ZnCly + Ha

Zn+ HCl = 2ZnCl + Hy




15 68, J) sl

Based on the comparison of the two graphs below, ek Hlue T 0l paild) casey)) &5)lae I Tabidl
which pathway shows the reaction that has taken place o3 Bieluwy G sl Jelad!
with the help of an enzyme?

ALkl

Total Energy

Reaction pathway A Reaction pathway B
A sl s B sl

1
]
Pathway B :
Bolue E

1

Both reactions took place with the help of an enzyme
033! Bk Laaa el E ot

Both reactions took place without the help of an enzyme
@33 Bas s Oy alelad)! O L




16 a8 J) s

Methanol is produced when carbon monoxide and Jasliall 215Y g sugd 3 ae 08080l ST Jof Jolany
hydrogen gas react as follow: W gl s
1 molecule of carbon monoxide (CO) reacts with 2 .. ) 2oy s t ..
b S b co)o | dwsST Jol o domlg £0830 Lo lan
molecules of hydrogen (H:) to produce some it EEE L.LJ?J)SJ M; UL: 3 P Js |
amount of methanol (CH40) (CHA0) Jgliall 00 42 T Y (H) cemgied
L g Lo cdliS)) laas ogild Jlg ol 3LenSIl delasd) JI Tabit!
Considering the above reaction and based on the . o sl Sl 4 B | H il | -FI )
Law of conservation of mass, how many atoms of Ll sl Sl § Sagzsell (H) onraiedd =3 s
Hydrogen (H) are there in the products? Choose the Aol
right answer.

17 a8 J) sl

In the circuit shown below, the only switch thatcan il Ju>g)l Zliasll colial Byallall 45l .Sl 5,501 3

be used to turn the lightbulb 3 off is switch C. .C zliaal g2 3 Fluaall slaby dalasuul o
Switch C
C Zlid

Ny

ol
ﬁ-i @
= W 4:.3
2 < gV
g:ﬂ
v = =

Battery
-'.J_]I_—.IJl

—[1]1

Lightbulb 1
Ll

Lightbulb 2
= T

Lightbulb 3
=1

2 i

......................................................................................................................................
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There are four lightbulbs in Laila’s room. When she A ceeld Lodis - A 48,8 (3 43L g5 pmliae aoyl d g
turns oft the light switch, all the lightbulbs goes dark. & zulbas)l e elakasl ceguall Flde Ladd Sl

A48, all
What describes the way the lightbulbs are connected T d8ye (8 oliaall Juo g3 dnyle Ciuay sl Lo
in Laila's room? . i -
i
: Connected in a series circuit ;
o I 8551 (3 Abuaia

Connected in an electrically insulated circuit

sbye Ajle 5515 3 dbana

Connected in a parallel circuit
$3lg5 851> & dlaze

Not connected to each other
19 a8 J) s

What does “polar molecule” mean? G plad egia" aas (0 el sbal whlasd! e -:"_51

A molecule that has ionic bonds
Ligl Lulg) o Sy e3>

o

]
]
L)
A molecule in which atoms don’t attract the shared electrons equally E
Sl A5k DU ASIW @bl Cda dd 0550 Y sigie |
i
L)
H

A molecule in which atoms attract the shared electrons equally
Soluio A5kl WU ASIW bl Qe 403 0855 #&5

A molecule that has metallic bonds
asld Lls) e Syt s8>
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Sami has a rubber balloon positively charged; Sami’s @ue Joos fdimddl g follre Ol sl S

friend is holding a glass cup negatively Gha.i'ged._ Aol LIl Bl GBS ol
What will happen when Sami’s friend puts the cup near o ol Ol sl B0 g lidis Eidou 13k
to the balloon? _ Fogll!

1
1
The balloon will be attracted to the cup E

o Logarnad w8l 09l oy B g |
|

1

o

The balloon will remain in place
4B § oWl Ay Bow

The cup will repel the balloon

Lagsans 56 g8l Oglldl 1303 g

The balloon will spin in circles
58 Jga 001 gy ogae




